



WALCHAND COLLEGE OF ENGINEERING, SANGLI

(AN AUTONOMOUS INSTITUTE)

DEPARTMENT OF INFORMATION TECHNOLOGY

STUDENTS' ASSOCIATION OF INFORMATION TECHNOLOGY (SAIT)

REPORT OF VARIOUS ACTIVITIES CONDUCTED BY SAIT IN THE ACADEMIC YEAR 2018-2019.

CERTIFICATE

I certified that the contents of the proposal or any thereof it is legitimate and true to best of my knowledge.

Mr. Swaraj Telang (President, SAIT)

Mr. Mahendra Dhawse (Treasurer, SAIT)

Mr. M. B. Narnaware (Staff Advisor)

Dr. S. P. Sonavane (HOD IT)

INDEX

Sr. No.	Content	Page Number
1.	About SAIT	4
2.	Aims and Objectives	4
3.	Events organized by SAIT	5-6
4.	Departmental Tour	7-9
5.	GIM 2k18	10-12
6.	Club Services Sem I	13
7.	Audit for Techno Buzz 2K18	13-17
8.	Club Services Sem II	18
9.	Interaction With Students From Jabalpur	18
10.	Audit for Tech-Nex 2K19	19-23

1. ABOUT SAIT:

SAIT (Students' Association for Information Technology) is an association for students of IT Department. It was established in 2003. Here students of IT Department organize seminars, workshops, technical events and social activity to develop technical skills, communication skill, Presentation skills and general awareness.

2. AIMS AND OBJECTIVES:

- <u>To provide service to students.</u>
- To introduce new technologies and ideas with the help of Club Service.
- To share knowledge and Project ideas.
- To improve communication skill and management skill through seminars and workshops.

3. EVENTS ORGANISED BY US

TECHNO BUZZ

SAIT organizes the state level technical event every year. It develops good managerial and leadership skills amongst the managing committee. Basically it is the workshop organized for providing the knowledge of various trends of the technology.

• GIM (General Interest Meet)

SAIT organizes a G.I.M. every year which is a formal welcome of the newly admitted first year IT engineering students of our college. We introduce them to our departmental club and members.

Weekly Club Services

We conduct weekly club services every Monday throughout the academic year which improves soft skills of the students.

The content of the club service is as follows:

- Technical development session.
- Group building activity
- ❖ Non- Technical development session

Alumni Meet

An annual alumni meet is arranged in the first week of January every year. Alumni and industrial relation officers (AROs) organize this event for the increasing the interaction of students with our alumni. It helps students to understand the changing scenarios in IT Sector.

Guest Lectures

We arrange guest lectures of prominent personalities from industries and alumni who have succeeded in various fields related to IT.

• TECH-NEX

SAIT organizes a mega event, it contains technical as well as non-technical Competition (Coding competition, Paper presentation and IPL Team bidding event). Students from nearby colleges participates in these competition. For each event there will be prize and certificates.

4. **DEPARTMENTAL TOUR:**

DATE: 03/08/2018

ORGNISER: SAIT 2K18 members

ORGNISED FOR: First Year (Batch 2018-19)

IMAGES









5. SAIT GIM (General Interest Meet)

DATE: 06/08/2018

1)Decoration	613
2)Bands	240
3)Gifts	250
4)Chocolate	100
5)Poster	285
6)Transportation	300
7)Invitation Cards	200
Total	1988

• Total Event Expenditure: 2000/-

IMAGES:









6. CLUB SERVICES IN SEM I

Topic Name	Date	
1.Encryption and Decryption	13/08/2018	
2.Malware	24/08/2018	
3.Biometric	27/08/2018	
4.Big Data and Hadoop	03/09/2018	
5.Basics of Operating System	10/09/2018	

7. WORKSHOP

TECHNO BUZZ 2k18

DATE: 13/10/2018 AND 14/10/2018

CONTENTS: 1) Cloud Computing

2) Internet of Things

3) Hardware

Total Entries: 110

Total Amount: 110*200=22000

Expenditure:

1.Posters		3600
2.Traveling		3500
3.Certificate		4000
4.Refreshment		10500
5.Tea		1500
6.Biscuit		500
7.Decoration		1120
8.IoT Material		2140
9.Pen,Conference pad, CD, CD Cover		3950
10.Chalk,Marker,Duster,Other		600
11.Id cards		1640
12.Xerox		135
13.Chocolate		340
14.Flowers		50
	Total	33575

IMAGES:













8. CLUB SERVICES IN SEM II

Topic Name	Date	
1.Cyber Security	14/01/2019	

9. Interaction with students from JEC, Jabalpur









10. MEGA EVENT IN SEM II

TECH-NEX 2k19

DATE: 30/03/2019 AND 31/03/2019

SUBEVENTS:

- 1) CODE-CRUSH
- 2) BID-TO-BUILD
- 3) CODE-SWAP
- 4) CODE-X
- 5) PAPER-TWEET
- 6) THE ROLE OF DIGITAL MARKETING IN STARTUP (WORKSHOP)

Total Entries: 72 **Entry Fee Amount**:

1) CODE-CRUSH

Round 1=14*50=700

Round 2=6*60 = 360

2) BID-TO-BUILD

Round 1=12*150=1800

Round 2=8*90 = 720

3) CODE-SWAP

Round 1=10*50=500

Round 2=5*60 = 300

4) CODE-X

Round 1=6*50=300

Round 2=4*60 = 240

5) PAPER-TWEET

Round 1=12*80=960

Round 2=5*100 = 1460

Total=6380

Expenditure:

1.Posters		3000
2.Traveling	3000	
3.Certificate	3360	
4.Refreshment		5200
5.Prize		8000
6.Decoration		2000
7.Id cards		150
8.Xerox		600
9.Flowers		50
	Total	25360

IMAGES:

Inauguration









DAY 1 (CODE-CRUSH and CODE-SWAP)





DAY 1(BID-TO-BUILD)















DAY II (PAPER-TWEET)



